[ Efficiency vs vertpos |

AR AL L A AL AR RRR RN RARR RRRLE RRRRE RRRRN RARRE LEALE IAL

Q
e}

0.
1072

10

1 10 0?
TP vertr (cr%)

Efficiend

—=— DQMstep3_SoftQCD_CKF
—e— DQMstep3_SoftQCD_default
—+— DQMstep3_SoftQCD_defaultNEWT2

~ 0.7
20.09
n
>0.08
>
2
90'07
3]
£ 0.06
(]
0.05]
0.04
0.03
0.02
0.01

10
1.1
!
0.9

Ratio

08

0 10

[ Efficiency vs. sim PV z |

20 30
TP vert z (cm)

N 0.2
> C
2.0.18
E L
50.16
20.14
3
20.12
0.1F
0.08F
0.06F
0.04F

0.02F

efticie

Ratio

Sim. PV z (cm)




	Contents
	Page 1


